Question No : 1 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

The Sl unit of amount of substance is

Answer | Please select your correct option )

kelvin

Candela

Mole

Ampere

‘ Meade By: Wagar Siddhu

Marks: 1 (Budgeted Time 1 Min) =

Question No : 2 of 26

Which battery applies a greater potential difference?

Answer | Please select your correct option )

12v

15v

10v

0.5y

‘ Mhade By: Wagar Siddhu

Marks: 1 (Budgeted Time 1 Min) =

Question No : 3 of 26

Current through open circuitis

Answer | Please select your correct option )

high

minimum

zZero

infinite

‘ Mhade By: Wagar Siddhu




Question No : 4 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

Fower dissipation is measured in

Answer | Please select your correct option )

ohm

ampere

watts

wvolt
‘ hade By: Weaqar Siddhu

Marks: 1 (Budgeted Time 1 Min) =

Question No : 5 of 26

If'magnitude of the current is controlled by mput current the source 15 called

Answer | Please select your correct option )

Current controlled current source

Current controlled voltage source

Voltage controlled voltage source

Voltage controlled current source
eade By: Wagar Siddhuy

Marks: 1 (Budgeted Time 1 Min) =

Question No : & of 26

Sum of all currents entering in the node is equal to sum of currents leaving the node, is statement of

Answer | Please select your correct option )

Ohm's law

Kirchhof' 5 current lawr

Jame's law

Rutherford's law

‘ Mhade By: Wagar Siddhu




Marks: 1 (Budgeted Time 1 Min) =

Question No : 7 of 26
-

Junction of twio or more than twia elements in a circuitis called

Answer | Please select your correct option )

ground
A
node
-
joint
(&
Loop
o -
hade By: Wagar siddhuy
Marks: 1 (Budgeted Time1 Min) (=

Question No : & of 26

For the given figure current flowing through 12k( is

Vs=14v

Answer | Please select your correct option )

3mA

2mA

6mA

SmA
‘ Mhade By: Wagar Siddhu

Marks: 1 (Budgeted Time 1 Min) =

Question No : & of 26

Vs=14

Answer | Please select your correct option )

3mA

2mA

6mA

SmA
‘ Mhade By: Wagar Siddhu




Question No : 9 of 26

Marks: 1 (Budgeted Time 1 Min) =

Through which resistance least currentwill flow

200V

|»

Answer | Please select your correct option )

500)

300

200

same through all resistance

Weade By: Wagar Siddhu

Marks: 1 (Budgeted Time 1 Min) =

Question No : 9 of 26

200V

Answer | Please select your correct option )

500
(o]
300
-
200
o)
same through all resistance
(@ -
hade By: Wagar Siddhuy
Marks: 1 (Budgeted Time 1 Min) =

Question No : 10 of 26

Using woltage divider in the figure below, Voltage drop across 30 will be
350

.’!!:—l

Vs=10v

Answer | Please select your correct option )

20v

14w

By

Ty

Weade By: Wagar Siddhu



Question No : 10 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

Vs=10v

Answer | Please select your correct option )

20v

14w

By

Ty
‘ Meade By: Wagar Siddhu

Marks: 1 (Budgeted Time 1 Min) =

Question No : 11 of 26

The walue of Ia for given circuit 15
eV

- - 4L
e .
l*—Lﬂ‘fff———l

Answer | Please select your correct option )

la=lo

la= 34

la=-3A

la=6v
‘ hade By: Weaqar Siddhu

Marks: 1 (Budgeted Time 1 Min) =

Question No : 11 of 26

g

Answer | Please select your correct option )

la=lo
- la= 3A
5 la=-3A
- la=6wv
eade By: Wagar Siddhuy




Question No : 12 of 26 Marks: 1 (Budgeted Time 1 Min) =

|»

Tfwalue of T is 2 2mé what will be the walue of Ta?

= 1 0 = =

Answer | Please select your correct option )

2mA

1mA

22mA

10mA

‘ Meade By: Wagar Siddhu

Question No : 12 of 26 Marks: 1 (Budgeted Time 1 Min) =

|

-

-

Answer | Please select your correct option )

2ma

1méA

22mA

10mA
‘ Mhade By: Wagar Siddhu

Marks: 1 (Budgeted Time 1 Min) =

Question No : 13 of 26

How many loop equations can be written for this circuit?

40 0
- r_ % -

Answer | Please select your correct option )

2

‘ Mhade By: Wagar Siddhu




Question No : 13 of 26

Marks: 1 (Budgeted Time 1 Min) =

-

Answer | Please select your correct option )

2

Weade By: Wagar Siddhu

Question No : 14 of 26

Marks: 1 (Budgeted Time 1 Min) =

How many sources are dependent sources i given circuit?
400 120V

=
g

100 K
— — ———————

Answer | Please select your correct option )

3

Weade By: Wagar Siddhu

Question No : 14 of 26

Marks: 1 (Budgeted Time 1 Min) =

0 o & -

1oov

Answer | Please select your correct option )

3

Weade By: Wagar Siddhu



Question No : 15 of 26

Marks: 1 (Budgeted Time 1 Min) =

TAhich current source will be used for super mesh?

Y i :-[; e
A 5 W

—_—

|
D
!

-

Answer | Please select your correct option )

Ama

2m#A and 4mA

Weade By: Wagar Siddhu

Question No : 15 of 26

Marks: 1 (Budgeted Time 1 Min) =

W W

—

Answer | Please select your correct option )

amA

2mA

TmA

2mA and 4mA

Weade By: Wagar Siddhu

Question No : 16 of 26

Marks: 1 (Budgeted Time 1 Min) =

Current flowing through 5€2 resistance will be

70

Answer | Please select your correct option )

T1A

2A

10A

144

Weade By: Wagar Siddhu



Question No : 16 of 26

Marks: 1 (Budgeted Time 1 Min) =

T

= 502

2A|

Answer | Please select your correct option )

T1A

24

10A

144

Weade By: Wagar Siddhu

Marks: 1 (Budgeted Time 1 Min) =

Question No : 17 of 26

4 KQ

2A: | 2K0

In the given fig. Current flowing through 4k resistance will be

Answer | Please select your correct option )

B
(&
24
=
44
(&
064
hade By: Wagar Siddhuy
Marks: 1 (Budgeted Time1 Min) (=

Question No : 17 of 26

Answer | Please select your correct option )

8A

2A

44

Weade By: Wagar Siddhu



Question No : 18 of 26

Marks: 1 (Budgeted Time 1 Min) =

|»

Using current divider rule, current flowing through 40 is

Answer | Please select your correct option )

44

84

12A

3A

Weade By: Wagar Siddhu

Marks: 1 (Budgeted Time 1 Min) =

Question No : 18 of 26

Answer | Please select your correct option )

44
(&
A
=
124
(&
3A
hade By: Wagar Siddhuy
Marks: 1 (Budgeted Time1 Min) (=

Question No : 19 of 26

In the fig. below current flowing through 20 is

Z.)n

Answer | Please select your correct option )

44

8A

12A

6A

Weade By: Wagar Siddhu



Question No : 19 of 26

Marks: 1 (Budgeted Time 1 Min)

12A

Answer | Please select your correct option )

44

84

12A

6A

Weade By: Wagar Siddhu

Question No : 20 of 26

Marks: 1 (Budgeted Time 1 Min)

In the given circuit, the walue of dependent current source is

WMi——
+
——

fmA

%0 L = 4k0)
: > v, 2 p
Answer | Please select your correct option )
6mA
C
[
-
ix
2N
IL
o -
Wade By: Bagar Siddhu
Question No : 20 of 26 Marks: 1 (Budgeted Time 1 Min) =
L L -
2K == L = 4k0
- 2 v, 2

Answer | Please select your correct option )

6mA

Weade By: Wagar Siddhu



Marks: 2 (Budgeted Time 4 Min) (=]

Question No : 21 of 26

|»

Ir

144 1z
A=

[—1!6 1/3:|

What will be Adj(A)7

Answer ( Please click here to Add Answer )

DeEar|r o a6 il E [oeE)]

[irmat ] [aviel HiEEEEEE

kil

Weade By: WNagar Siddhu

Question No : 22 of 26

Marks: 2 (Budgeted Time 4 Min) =

K< | <
< s s 10mA
o < 1K
* * @ v
—
a s

Answer | Please click here to Add Answer )

D@EESR| v ] o o 8|5 oG [E o]

[ormal ] [ B H|E§

- Weade By: Bagar Siddhu
Marks: 3 (Budgeted Time & Min) =

Question No : 23 of 26

For the given figure, prove that la=Ix

é:hl‘—lzL—"yl.s‘“

Answer | Please click here to Add Answer )

D@EESR| v ] o o 8|5 oG [E o]

[ormal ] [ B H|E
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Question No : 23 of 26

Marks: 3 (Budgeted Time 6 Min) (=]

Answer ( Please click here to Add Answer )

DeEar|r o a6 il E [oeE)]

[irmat ] [aviel HiEEEEEE

Weade By: WNagar Siddhu

kil

Question No : 24 of 26

Marks: 3 (Budgeted Time & Min) =

Tdentify and label all possible loops and write kvl for central loop.
nv

A [
asv{ * ) -

L 4 N
w3 03 3

Answer | Please click here to Add Answer )

D@EESR| v ] o o 8|5 oG [E o]

[ormal ] [ B H|E§

- Weade By: Bagar Siddhu
Marks: 3 (Budgeted Time & Min) =

Question No : 24 of 26

W—— N
J_m )
asv( *) 5 ‘

ws | M

J i

S—

Answer | Please click here to Add Answer )

D@EESR| v ] o o 8|5 oG [E o]

[ormal ] [ B H|E

Weade By: WNagar Siddhu



Question No : 25 of 26

Marks: 5 (Budgeted Time 10 Min) =

T—T—"w‘\/"\f
| e
N & Io >

[/ 2 f % (T\:l 4md

Find To by EVL. Identify and label each mesh otherwise you will lose your marks. Write each step of the calculation to get mazimum marks and alse mention the units of each derived value

|+

Answer ( Please click here to Add Answer )

e e e s i e ) RS
[ormat = [asier =z A s« E|E —————
- Yeade By: Bagar Siddhu
Question No : 25 of 26 WMarks: 5 (Budgeted Time 10 WMin) =
A Ll "
2mA < o < A
A r\_J',-') 4 g 5 [/T ) 4mA
L

Answer | Please click here to Add Answer )

DeEak| e s & & & c e R o=

[armal 2 | ] = | e o |E

kil

Weade By: WNagar Siddhu

Question No : 26 of 26

WMarks: 5 (Budgeted Time 10 WMin) =

Just wnte KXVL equations for path AFFA end ABCDEA

s 12V c

N A

Answer | Please click here to Add Answer )

DeEak| e s & & & c e R o=

[rarmat B EEE] o - B

Weade By: WNagar Siddhu



Question No : 26 of 26

Marks: 5 (Budgeted Time 10 Min) =

N~ /

s
<
'\f«

S i \ b4
rvv—a-—'\.-«ﬁ.—c

-oav o+

Answer ( Please click here to Add Answer )

e e e s i e ) RS
[irmat ] [ EEE E|E§
- Yeade By: Bagar Siddhu
Question No : 26 of 26 WMarks: 5 (Budgeted Time 10 WMin) =
e A ~ 2 Y
—— v Yoe g

L \E/ :

N— O — NN

] = 0w+ - o+ -]

Answer | Please click here to Add Answer )

CEEER])DE]o  #8[5 0 W ]

[ormal ] [ B H|E§
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